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L. 1 mwn - physical defects of nnx
a. fprm: if it has bubbles on a majority of the mInx —invalid
i.  However: if it only covers a minority — valid
ii. ~7DM 77 (version 1): 21 ruled that it is only invalid if it is one place; if spread out — valid
1. Challenge (x37): if spread out, it is “spotted” and invalid
iii. &7DM 77 (corrected): 21 ruled that it is only valid (if VIYn) if in one place; if 2 or more — MMNIN >0
iv. w27 if itis on the nvIn (from slope to top) — any 1 invalidates
b. /nvo: if the DY’ (stem of the flower) is gone — invalid
i.  9woN 13 pny “7version: \MN1 (may be same as NnYa or references the stem)
ii. However: if the stem is removed - still valid
c.  95prifitis peeled - it is invalid
i. aa7ifitis peeled to the rind — valid
ii. Resolution: if it is completely peeled - valid; if partially — invalid (1m1n)
d. 2pxif a hole was made in it — and any bit is missing — invalid
i. However: if a hole was made and nothing is missing — still valid
ii. Version (812 72 8519): if the hole goes all the way through (v%19n) — invalid at any v
1. But if: it doesn’t go through (v191n 1R) — 7wV is the size of an Tv*R-coin
e. wx an Etiopian »InR is invalid
f. 35 177 if it leek-green, n™ validates and nmn’ "1 invalidates
II. ®27's question: if an IR has NV MO - is it still valid?
a. Cannot mean: peeled, cracked or had a hole in it — already mentioned
b.  Means: per nnv *v’s ruling that if the inside of the lung “melts” to fluid - still n7w3, and
i. &7 commented that it is only n7w3 is the sacs are still intact; same requirement for nInx?
1. Perhaps: in that case, the sacs protect the lungs from oxidization; but in the case of the
NN, it is exposed (so it is a "Na*v” nonetheless) or perhaps his distinction holds?
c.  Proposed answer: a bloated or soured, pickled, boiled, black, white or spotted »nx is 9109
i.  Assumption: “bloated” is on the outside, Mo on the inside (i.e. X17’s case)
1. Rejection: both are on the outside - could be just bloated or just soured
ii. 12 challenge from &n»»a which validates
1. Answerl (»ax): actual »»13 (from Africa) is valid; 'w13% nmT (grown elsewhere) %109
2. Answer2 (837): depends on locale - if it's considered normal locally, valid
d. Continuation of #n»7x. if round like a ball — %v9; some add “twinned” »nR as invalid.
i. 7012 y™ invalidates; D'nan render it 73
1. 727 v™ and v" have common approach; v exempts small D)INR from VYN (T:X 'VYN)
2. »ax: perhaps »™ only rejects 7012 due to requirement of 171
a. And: perhaps v™ only exempts from mawyn per v. 1
ii. o197 if he used a mold to shape it into some other shape — %102
1. ~a7 only invalid if it looks like a different thing; but if it looks like an »anx — valid
a. Justification (in spite of 7ywn’s NN /17737): if he made it in sections
e. 37 an MINR that mice nibbled at is %109
i. Challenge: ®yan "3 would take a bite out of the nInR — and then use it for the mxn!
1. Clarification: he would do that on remaining days (when 171 is no longer a factor)
2. Defense: mice nibbling at it makes it disgusting — worse than a human bite
ii. Note: some read that 21 validated 0123y ymap), supported by Rrin "
I 1 mwn: minimum and maximum sizes of NINR
a.  Minimum: 0" — size of nut; "M’ "1 — N¥*2) (note: parallel dispute re: Xbdn n’a 1R on N1Y)
b. Maximum: nm 1 — 2 should fit in one hand; 0y "3 — even if one take both hands to hold
i. am77200v "1 related that ™ came into 1”572 with nnR over his shoulder
1. Retort: wnan told him that it wasn’t 171
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